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& Step 1:Problem Statement
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& Step 2 : Data and Information

335 = p=8470kg/m’

_ 3
V =5000cm o, =320MPa
— =
r= "X 5 k =324W /m-°C
—E gERHE x
h—LHI—:— JO'T'L ;J_O] %7]‘:6000%/'(9
P =1.55 Mpa

4575 = p=8933kg/m’
o, = 220MPa
Kk, = 401W /m-°C
@7}, =2238%/kg

T, =7FE 2X(600°C)
T, =¥ =%(200°C)
1288 2 = p, =7920kg / m®

o, =655MPa T = p=19300kg /m*®
kS = 27W /m ‘OC O'u :120MPa
7k =2700€1 /kg k=512W /m-°C

24T F= p, =2707kg /m° 7} = 400000 /kg

o, =110MPa Pr o} =) O itimat
_nr Z 2=\ _ “ultimate __
K, = 204W /m-°C aey =+ FSEHAAT) = Cun
7}, = 25689 /kg . AT Q
Q=—-(EF=—)
R,  time
In(r, /) L
R ===+ (Riv) prane =E

27kL



O Jllow = ﬂ ’ FS (?_]._;ﬂ 74] Z’L;) — O yitimate -3
: O-allow
. AT . Q
Q= R, = time)
In(r, /1,) L
(Rth)cyl =~ " 0 (Rth)plane - E

2tkL

e R RS A
Minimize f(r,h)=2zrh+2zr°

. 2
Constraints : V=zr‘h +§7zr3

1.3r > h



& Step 3 : Definition of design variables

t. =thickness of Stainless
t, =thickness of Aluminum

& Step 4 : |dentification of Criterion to
Be Optimized

Vo=l + )+ ) (a4 )

V, =7(r+t +t ) +§ a(r+t, +t)* —[ﬂ(r +t)? +§7Z’(I’ +t5)3}

V, =(r+t, +t +t,.)° +§ﬂ(r +t +t, +t ) —[ﬁ(r +t +t,)° +§ a(r +t, +ta)3}

ft.t)=pV,x 7L /kg+ VN, x 7k kg
= 6.95158x10°V, +2.1384x10'V,



LHE2 =& A H(5)

Step 5 : Identification of constraints

(1) gl:ta+ts+tb >tcr

F.S = ~uttinat =3 ! pr = 2 ultimate 1 O uitimate = O aluminum = 110M pa

O-allow t 3

3pr 110 xt 110 xt
" t. +t.+t > , h,: t. = ———2&, h.: t =-—-""a
gl a S b O'u 1 S 650 2 b 320

(2) gZ:Qcyl+Qplate ZQ

oon (5t el U
- — r + t, +t,+ ¢,
Qcyl = R . : Rtotalcylinder = 2 k h + +

totalcylinder T Ky 27Z'ksh 27Z'kbh
Q'p.ate=M R b W b @ acar(ratat, 4 ty))

R total plate k A k A kbA

total plate S a
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<S>
—Conjugate Method (Excel Solver)
—Sequantial Quadratic Programming

(Matlab FMINCON)
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2 )H(Conjugate Method )

(1)Conjugate Method (Excel Solver)

*SHH Ol off S

ZHOFDLX| 28t
—equality &2 HAH =
1.

gl

o
—

P

|I—|D
—/ HBA

0
B
G
oY
|0
HU
>
0t

S 2 x< |.— o
(= = j <&I- O
C
IB$1 1.00E-11 1.00E-01 1.89E-03 1.00E-11 1.00E-11 1.00E-11 1.00E-11
$B$2  0,003253999 0.1 0,189727807 0,187902743 0060499628 0,003253999 0.003253999
$B$3 1E-09 0,1000001 0.2000002  0,197179304 1.01E-07 1.01E-07 1E-09
2t
$B316 3704850523 6671927.706 14342045 47 1381842276 98378.83421 3705.709147 3704 858523
EN " g d2 AlLele 22 B0 A7 = E o)
HE A e l-rPEJrL”LrIEP 2ZhAlLtel ez HE dEE
FlMez E | ElLIC},
2 BOE-01
2 DOE-01 -
/ N
1, B0E-01 4 S—r
v \ FETES
1, 00E-01 e 1
Y \
5,00E-D2 = o
\ 2
0,00E+00 ' ' ' '
5 4




& A H 2 Conjugate Method )

$E$1 0.000361387 1E-11  0,000409074 0,000381387
$B$2 0,002151292 0 0003253999 0002435851 0002151292
PE$3 0000740715 00000001071 0,000409175  0,000740715

$BE16 9954617989 3705709147 7649 766409 9954 617989

=0 SR 2 eE 2 ALl §oF B0 M7 ErAE oy e
w2 A ZHS LIEMALICE 2F AlLlEl 22| 2 4ES
A

= 221

0.0035

0.003 .

0.0025 \

0,002 -

o2 |
on HJu mm

0.0015

or

0,001

0,0005




& &AH &2} (Conjugate Method )

2
5
5 .
6 $BST 1.00E-08 7.25E-03 1.00E-08 1.00E-08 1.00E-08 1.00E-08
7 $B$2 0,00325398 0.00725 0,004354707 0,004338884  0,00325398  0,00325398
8 $B$3 1.00E-08 7.25E-03 4. 56E-05 1.10E-07 1.10E-07 1.00E-08
) 2 4
|10 $B$16 3704806103 64648 64561 5149731814 49766961 3705230695 3704896103
11 = O EEALEE 22 20AM7 SAE
12 _EAI‘%’.'-_LLH—HII|I PR N I R N - - = L |
13
T 8.00E-03
15 7.00E-03
16
17 6.00E-03
i 5.00E-03 —
19 =&
4,00E-03 SENTE
\\\— N
2 3,00E-03 =L
| 22
| 23 2,00E-03
24
= 1.00E-03
| 26 0,00E+00
| 27




& &AH &2} (Conjugate Method )

-
o

3

5

& $EE1 3.62E-04 4 10E-04 A4 10E-04 3.62E-04
7 $E$2 0002151236 0002434364 0002434354 (0.002151236
g $B$3 7. A0E-04 4. 10E-04 4 10E-04 7. A0E-04
3 PR

10 $E$16 G1B2.6BE3612 FBEAT.37898%8 GEAT.378088 B152.6E3612
11 AT HA gt HS ALRI2 S0F 5 M Jf SR El e _
12 R
13 =| 3.00E-03

14

15 2 BEOE-03 —

16 e

i 2.00E-03

18 — g

19 . 1.50E-03 wag|s
20 " =

21 1,00E-03

00

23 5.00E-04

o4

gg 0. Q0E+00) ' '

- 1 2 3




A 2
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A

Z ) (Conjugate Method )

1
2

3

5

6 $B$ 1 1.00E-05 1.10E-03 1. 10E-0% 1.00E-05 1.00E-05
7 $B$2 0003243 0002153245 0.002153245 0.003243 0.003243
g $B$3 1 .00E-06 1.10E-06 1. 10E-06 1.10E-06 1.00E-06
g a4l

10 $B$16 5012973762 7687.021991 7637.021991 K148 190947 EO18.973752
11 A 22 ALgle or H NI FEME ol B

12 H 4l gh

13 slmoz | S.50E-03

14 -

= 3 00E-03 —

16 2 BEOE-03 ——

17 -

12 2 00E-03 — 28

19 TELES

o0 1 BEOE-03 =

21 _ 5

5o 1.00E-03 \

23 5 O0E-04

24 \

oF 0.00E+00 ' - '

0

o7

08



w

$EH1 3.61E-04 4.10E-04 3.61E-04

$B$2  0.002151898| 0002442588 0002151898

$B$3 7.41E-04 4.01E-04 7.41E-04
=

$B16 0561116985 521365,9060 0661116365
5.00E-03
5 BOE-03 N

—_—

2 00E-03
1 B0E-03 —
1.00E-03 =
5.00E-04
0,00E+00 |




=& ZH 21U (SQP)

(2) Sequantial Quadratic Programming(Matlab
FMINCON)

N

X(3)2l &= a(0.0007m)E I o2 Fo
LEOI X 20§ B340l CHet P& X240 3xt2 2
o g

> 242 Equality #2422 =9 WEO| =&
A0|0, LIH Xl 5242 inequality =522 2

o=
L




2 O C R O R I O

Nz

&

X0=[0.05 0.05 0.05];

A=

[]:8=11;

Aeag=[]:Bea=[];
LB=[0 0 0];
UB=[0.1 0.1 0.1];
X=FMINCON('lch',X0,A,B,Aeq,Beq,LB,UB,'conlch')
f=

9.9494e+003

X

0.0004 0.0022 0.0007
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Question?




